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PR L 9FETH 1L AT Al CFpk 1 646 H 2 3 HEIE) R R (%)
X po 5 o FHA ) tc 7B C _(A-B) D (C/B)
fiF] i} il 136 180 316 109 140 249 67 26.91
A i i 88 91 179 63 67 130 49 37.69
H i} il 27 34 61 27 29 56 5 8.93
EER S ) 7 18 25 4 11 15 10 66. 67
& fiF] il 11 10 21 8 11 19 2 10. 53
H oK il 13 22 35 14 19 33 2 6. 06
i t il 22 21 43 17 21 38 5 13.16
= 7 il 23 21 44 19 20 39 5 12.82
e I7A i 16 11 27 16 11 27 0 0. 00
I i) i 8 9 17 6 5 11 6 54. 55
W o=F W 6 9 15 4 7 11 4 36. 36
R i 10 8 18 9 5 14 4 28. 57
= JiE i 16 12 28 15 9 24 4 16. 67
ES 1E i 12 13 25 11 11 22 3 13.64
& u] i 0 9 9 1 5 6 3 50. 00
i B 395 468 863 323 371 694 169 24. 35
Fn = iy 4 5 9 4 3 7 2 28.57
i & BB E 4 5 9 4 3 7 2 28. 57
i 5 L 3 8 11 2 5 7 4 57. 14
" AR F 3 8 11 2 5 7 4 57.14
B E L 1 2 3 1 1 2 1 50. 00
® 0 B F 1 2 3 1 1 2 1 50. 00
ES Hh my 3 7 10 3 5 8 2 25. 00
AN HCORRF 3 7 10 3 5 8 2 25. 00
e HE HF 0 0 0 1 1 2 A2 A100.00
HOFE BB 3 0 0 0 1 1 2 A2 A100.00
& L2 my 3 6 9 3 5 8 1 12. 50
P 3 6 9 3 5 8 1 12. 50
B R HT 2 4 6 2 4 6 0 0. 00
= % HT 2 2 4 1 2 3 1 33.33
B M AP & 4 6 10 3 6 9 1 11. 11
mOE A A 2 2 4 2 1 3 1 33.33
B OHE B F 2 2 4 2 1 3 1 33.33
/N S ) 2 1 3 1 0 1 2 200. 00
% IS Ly 8 10 18 6 8 14 4 28.57
Nk BB OE 10 11 21 7 8 15 6 40. 00
H | hodeomy 9 10 19 6 5 11 8 72.73
moEm E F 9 10 19 6 5 11 8 72.73
A B 39 57 96 32 40 72 24 33.33
[ B 434 525 959 355 411 766 193 25. 20
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